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Introduction

If pronunciation is the foundation of Chinese learning, then grammar must be
the skeletal framework around which it is built. With good grammar, people can
then express themselves with proper meaning. Even if you know what all the
Chinese characters mean, you will make no sense without proper order in your

sentences. Good grammar will give you proper order.

Mandarin Chinese grammar is not as difficult as you would think. | believe
learning the grammar of any language is done through constant repetition.
However, | still want to suggest a way to make grammar easier to learn for

DigMandarin audiences.

In the content that follows, you will learn the most basic and important
grammar points step by step. It's a collection that includes a summary of
grammar structure, basic tenses introduction, and the most commonly used

special sentence patterns.

Let’s begin!

In Chinese, the sentence words order is especially important, partly as a

consequence of its lack of case endings for nouns.
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Although Chinese is not the only language where the sentence words order is
important, it is extremely important to take care of the right Chinese Sentence
order. A slight difference in the words order may result in a completely

different sentence and meaning. For example:

Some person/people have come
KA T

(ldi rén Le)

The person/people (we expecting to) have come
AFT

(rén ldi Le)

The meanings are different in the two sentences. Also, the Chinese sentence

words order is very different from English, like this example:

English: who are you?
Chinese: 142 fE?
(ni shi shéi? )

So, a word-by-word translation from English to Chinese would result in
meaningless sentences in Chinese. There is no way to make sense of the
Chinese words order from English. The aim of this article is to explain clearly
and intuitively the rules of the Chinese sentence structure and point out some

important exceptions. Let’s take a look.

The basic sentence pattern in Chinese is similar to English and it follows this:

Subject + Verb + Object (S-V-0)
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Here is an example of what this would look like:

He read Chinese book.

/A 15
(ta kan zhéng weén shi)
S |4 0

If there is also an indirect object, it always precedes the direct object. It will

look like this structure followed by good sentence examples.

Subject + Verb + Indirect Object + Direct Object (S-V-0-0)

He bought me a dog.

G K7 —HH
(ta géiwo mdile yizhigou)
S 10 % o)

He smiled to me.

f E ;T —R
(ta duiwo xiaole yixiao)
S 10 % 0)

He sends me a book.

/s 7 — A&
(ta song wo yI bén shii)
S V 10 (0]

Differences from Chinese and English:

The Location of Prepositions

Now we will look into differences in the Chinese grammar compared to
English. Prepositions (4118]) are words that come before nouns and pronouns
to expressing time, place, direction, objective, reason, means, dependence,

passivity, comparison, etc. Common prepositions in Chinese are:
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ft zai (infon), M cong (from), [g xiang(towards), ER gén(with), 1%
wang(to, towards), ZFI| dao (to a place, until a certain time), X dui(for), %5
géi (to, for), ¥¥F duiyu(regarding), 37 guanyu(concerning ,about), 3
ba(to hold), #¥ béi(by), Lt bi(particle used for comparison), #R#E génju

(based on), A7 weéile (inorderto), &7 chuile (except for)......

Preposition always occur right before the verb and its objects:

Subject + preposition + verb + direct object

Here are a couple examples of preposition in Chinese:

Add milk to the flour.

1t A1 Y/ 447
(wdng mian fén I jia niu ndi)
Prep. Place % @)

A flight from Beijing to Chengdu takes 2.5 hours.

M /e £/ S BEPL BT
(Cong béijing dao chéng du  zuoféiji yao lidng gé ban
xidoshi)

Prep Place Prep Place

The Adverb Placement

Adverbs (describes the verb) in Chinese typically occur at the beginning of the
predicate before an adjective, verb and preposition. Here are examples of

adverbs:
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R zhi(only), 7 céi(only,only then), #F dou (all), B kén ding (sure),
—5E yiding (surely, certainly), 1R hén (very), X tai(too much, very), %
gou(enough), JFEE feichang (extremely), B2 yijing (already), K& jing
chang(frequently), &Z jiangyao(will, shall), /g zuihou(finally), %]
dang chi(at that time / originally), TJ8E kénéng (maybe), K%

dagai(approximate), Z{iF hudxt(perhaps, maybe), J1L3F jtht(almost)

Here are a few ways of how it would be used in Chinese:

They all can speak Japanese.

117 s =l H %
(tamen dou huishué riyu)
S Adv %4 0]

That tall man goes away in a hurry.

MR BT FN A Al & T
(nagé hén gdo de ndn rén cong cong de z0u Le)
S Adv vV

He likes cats very much.

e FEE BN Mo
(Ta  féichang xihuan mdao.)
S Adv V 0

The Location Word
The location word almost always occurs before the verb in Chinese. There are
exceptions we will discuss them in a next lesson. Here is the structure frame

and an example of how it is used.

Subject + location + verb
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| work in Beijing.

#* 7 /e IfE
(wo  zai béi jing gong zuo)
S prep place %

If the description of the place contents several places, then the order in
Chinese is always from the biggest place to the smallest. It would look like the

following sequence.

China, Beijing University, Department of Mathematic
i1 [3] JER K5 HF =
(zhdng gud) (béi jing da xué) (shu xué xi)

the biggest place smaller place the smallest place

The Placement of ‘time when’

Unlike English, a word that indicates the ‘time when’ a situation in Chinese is
placed at the beginning of the predicate.

Subject + time when + predicate

For a few examples:

I had a dinner yesterday.

%  HEX e 43
(wo  zudtian chile wdn fan)
S time when predicate

I will go to Shanghai tomorrow.

#* YK ZEL |

(W6 mingtian  yao qu shanghdi.)
S time when __ predicate

I will send it via email this afternoon.

DK TF K -
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(Wo jintian xiawdi yong dianyou fa.)
S time when predicate

With time and location, which comes first?

When a sentence includes both a ‘time when’ and a location, ‘time when’
generally occurs before location. Both of them will come before the verb in the

sentence frame like the examples given.

Subject + time when + location + verb

I swim in swimming pool every day.

(wo méitian zai you yong chi youyong)
S Time Prep Place %

| eat in the cafeteria at school every day.

#* HAX # FREX VA3
(Wwé méitian zai  xué xiao shitdng  chifan)
S Time Place %

The Time Duration Words
Duration of time word indicates the length of time that an action occurs. Time
duration directly follow the verb. Unlike English no preposition is associated

with it. See the following structure and examples

Subject + verb + time duration

I slept two hours yesterday afternoon.

# HEX T4 HET  PYIDIT

(Wwé  zudtian xia wi  shuile  lidng ge xido shi)
S Time % time duretion




www.digmandarin.com

I run every day.

7 "X Viika
(wo méitian pdobu)
S Time %

Yesterday | bought several books

HEA # K7 A
(zudtian wo mdile  jibénsha)
Time S % 0]

In summary, The Chinese sentence structure is as follows:

Subject + time preposition + Time + location preposition + Location (from the
biggest to the smallest) + how (can be adverb or a phrase containing a
preposition.) + Verb + time duration + indirect object + Object

Here are some tips you can follow to better remember the sentence

structure.

1. The subject can be located after the time.

2. Sometime the duration of time word is an adverb phrase, which describes
a verb or an adjective phrase describing a noun. In this case it is located
before the verb (or noun) and not after it. Pay attention not to let it

confuse you. (Look at examples)

Since coming to China, I learnt Chinese very hard for three hours every day with my
sister in Beijing University.
HMRZNFE,  Be IR AEA AT A F 5T 7 =D I X
Time S Location _Adv.V. O
(zi céng lai dao zhong gud, wo hé méimei méi tian zai béi jing da xué nu li xué xi
san ge xido shi de zhong wén)

My dog lies in the couch of living room all day.

9
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L EL BR  FEEITHVK L BiE  HER
S Time Location How %
(wo de gou zhéng tian zai ké ting de sha fa shang tdng zhe shui ldn jiao)

Important Exceptions in the Chinese sentence order

As we know the basic Chinese sentence order is: Subject + Time (when) +
Place + verb. There are some special verbs, which seem to be allowed to break
the rules. These verbs are put before the place and not after it as usual. For

these verbs, we have the structure:

Subject + Time (when) + verb + Place

Which verbs are breaking the rules? There are two kinds of these verbs:

1. Verbs implying movement or location:
1E(zhU/live), 7L (fang/put), 22 (zud/sit), ¥ (zhan/stand), =&
(z6u/walk), 2 (qu/go), 1A% (da dao/arrive), & (ldi/come), "k

(fei/fly), #5 (réng/throw), & (dai/stay), etc.

2. Verbs that express variability from one situation to another in this place:
2L (jie/ bear fruit), FRZE/FR (j11&i / accumulate), &4 (shéng zhang/

grow ), = 1¥(péng rén/cooking), etc.

Here are several exception examples:

The food is put in the stove
B AL (type 2)
(shi wu fang zai It zi shang)

10
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Bananas grow on the tree.
BRI L (type 2)

(xiang jido jié zai shu shang)

Don’t throw on the ground.
NNEIAH L (type 1)

(bu yao réng zai di shang)

Kids always like sitting on the ground.

Z T AR EXL A L (type 1)
(hdi zi zong shi xi huan zuo zai di shang)

This may be a lot of information to take in and may be overwhelming but don’t
fret. If you continue to listen and read as much real Chinese as you can, it will
let you get a natural feel for these exceptions and put them before the place
word naturally. These verbs can be also used in the normal order (after the

place) in case we want to emphasize the place. For example:

I live in US
T 1E 5 [H 1

(W zai méi gud zhu) (not in China).

Take an easy Chinese sentence, which still contains most of the sentence
grammatical words (like subject, object, verb, prepositions and etc.) and say it
to yourself for some days until you will be able to recite it fluently. Then,
whenever you need to compose a sentence in Chinese only check the situation

in this sentence frame.

11



Chinese has a different approach from other languages in indicating tenses. It
can be tricky, but once you master it, using tenses will become clearer. If your
native language involves changing the form of the verb to indicate past,
present or future tenses, it may take some time for you to adjust and adapt to
how the Chinese express different tenses. But with practice, and in grasping
the context of when such sentences are used, it is actually quite easy to
understand. Once you get the hang of it, it will add to your growing skill with

the Mandarin language.

How to Express an Ongoing State or a Continuity of an

Action

In Chinese, and unlike in English, people don’t change the form of a word to
express the ongoing continuity of an action or a state of being. Instead,
Chinese focuses on using other words to express this. Here are some

important words in Chinese that are used for this purpose: “f£”(zai),

“IE”(zhéng), “IE7E”(zhéngzai ) and “Z&”(zhe).

1. “¥£”, “IF”and “IE¥E” are used to indicate that an action is

ongoing.

12
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Form 1) : Subject+7E/IF #E+Verb/Adjective+......

E.g.

(1) Fer/ IFEZ M. (W6 zai/zhéngzdi kan dianshi.)
| am watching TV.

(2) B4~ LM EFER. (Zhéngge shangwii ta déu zai kii.)
She was crying all morning.
Form 2) : Subject +1F + Verb/Adjective + &....../lR/E R
E.g.

(1) fhiFlZ, R&FF. (Tazhéng mdngzhe, méi kandao ni.)
He is busy, so he can’t see you.

2) (HE) FIEEZEW. ( (Jingju) wo zhéng kanzhe ne.)
(Peking Opera) | was watching it.

Notes :

e “F£” stresses the condition of an action, “1E” indicates the time of an

action, while “IF 7£” indicates the time and state of an action.

e “F£” can be enhanced with some adverbs like “X ”(you), “— & " (yizhi),

“R”(z6ng), “&”(hai) to express the repetition and long continuity of the

action, while “IE7£” cannot be used for this.

E.g.

(1) LK filh— B A HE R F . (Zhéxiétian ta yizhi zai xidng chiigudde shi.)

He has been thinking about going abroad these days.

(2) W XM T (N you zai héjiii le.)
You’re drinking again.

(3) MBI ZHIZE ). (Ta 26ng zdi shué guogude jingli.)
He’s always talking about the past.

(4) E—F, MEFESE . (Guoql yizhéu, ta déu zai xié lunwén.)

13
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He has been writing papers for the past week.

“1E” usually does not connect with a single Verb (especially monosyllable
Verbs). Its usual form is “Subject+1F +Verb/Adjective +&....../IR/E R,

while “££” and “IEZE” have no such limitation.

E.g.

(1) FIFFIERER . (W6 zhéngzai chi wdnfan.)
I’m having dinner.

2) HHFEL. (WS zdi kan.)

I’m watching.

2. “&"” is used after a Verb and Adjective to indicate the continuity

of an action or a state.

Basic Form : Subject + Verb/Adjective +%&......

E.g.

(1) Jk#F7F% . (Bingxiang kai zhe.)
The refrigerator is open.

2) Fid, FWrZ . (Nishué, wé ting zhe.)
You speak, and | listen.

(3) Uh—EENEZ AN H15 1T . (Ta yilu changzhe b zhiming de gé.)
She sang an unknown song all the way.

In order to emphasize this present state, it could connect with “1F” or “#”, or
place “Ng” at the end of the sentence. The specific situations for this are as

follows:

14
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Subject + (“IE”, “¥£”) + Verb/Adjective +& + (....../WE)

1) To indicate the continuity of a state, the subject is usually a thing. But if not,

»n w0

the Verb or Adjective are usually static words, like “4&”, “yh” “ZE” etc.

E.g.

(1) LT FHZEWE. (Déng kai zhe ne.)
The light is open.

(2) BHFIEHE, W7 HHFK. (Chudnghu zhéng kdizhe, yii pidole jinldi.)
The windows were open and the rain drifted in.

(3) (IR 72 T, EHKEE. ((Ni)bié zudzhe le, qildi z8uzou.)
(You) Don’t stay seated, get up and walk.

2) To indicate the continuity of an action, the Subject can be an animated one.

E.g.

(1) T IE =G E T E P o (Tuzi zhéng gdoxingdi chizhe huludbo.)
The rabbit is happily eating carrots.

(2) B &4, Pidid. (WG tingzhe yinyué, bu shushud.)
I am listening to music, not speaking.

For better understanding, see the chart below:

15
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Adverbs “7£” “IE”, “1E7E” and Auxiliary word“4&"

Function For an ongoing situation: For continuity:
i, "I, A 2L
Form Subject+{L/TE{L | Subject+IF Subject+ (“1E”, “fE”)+Verb/Adjective+# +(....../E)
+Verb/Adjective+... | +Verb/Adjective+#....../ | the continuity of a state | the continuity of an action
W /5 Wi
Example | fh7E{H IR FRIENT 4 3 - M IETF . ARHEIE I, AT,
( Ta zai zuofan.) (W0 zhéng tingzhe gé ( Diannao zhéng kai zhe.) | ( Waimian guazhe daféng, wd
He's cooking. ne.) The computer is open. bu xidng chamén.)
I’'m listening to music. The wind is blowing outside, |
don’t want to go out.

Note :

These are situations when we can’t use “&”:

(1)— IR 7ET/ #8114 ? (NI zai gan/xidng shénme ? )
What are you doing/thinking about?

— B M. (WS zai kan dianshi.)
I’m watching TV.

TS I . (WS zdi xidng jintiande  zuodye.)
I’m thinking about today’s homework.

(2)— IR EZEE? (NF z0i déng shui ? )
Who are you waiting for?

— HEEFEE, (WS zai déng Lihud.)
I’m waiting for Lihua.

We now know that “f£”, “IE”, and “IE££” are used to indicate that an action is
ongoing, while “Z&” is used after a Verb and Adjective to indicate the

continuity of an action or a state. Thus, “&” is mainly used for description. In

16
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the sentences above, the speaker focuses on the continuity of an action and

not when or how the action is finished. So we can’t use “Z&” here.

ii. How to Express that Something Will Happen “Soon”

There are several ways to say how something will happen soon or the near
future. Below, we have described some of those ways, and they are quite

useful and can help you become better at both written and oral Chinese.

Way 1. Use“ZE (yao) ==+++* T”; and “gt”(jiu) or “|R”(kuai) can be placed
before “Z2” to constitute “FR 2 -+-- T or “BREEeeeer T
E.g.

(1) HEEIFLE 7, e L ! (Dianying yao kaishi le, ni kudi didnr ! )
The movie will soon start, be quick!

(2) CHLEIZER € 7. (Féiji jityao qgiféi le.)
The flight will take off.

(3) WHRZFF 7. (Chudn kudiydo kai le.)
The ship will depart.

Way 2.  use “ffeee--- Y ”which is similar to “E...... 7.
E.g.

(1) RIEZELF T . (Fan kudi zhii hdo le.)
The rice will be ready.

(2) ZBPEHH T o (Jingll kuai ldi le.)
The manager is coming.

To form the interrogative form of these sentences, one can add the word “l4”

at the end of the sentence, followed by a question mark. The Negative Adverb

“%AB"” is its negative answer.
17
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E.g.

(1) — ZIFETF4E 2R T2 (LdoshT yao kaishi shangke le ma?)

Will the teacher begin our class?

— KA. (Méiydu.)
Not yet.

(2) — L RLEHT THG 2 (Hulyi kudi jiéshd le ma ? )
Will the meeting be finished soon?

— X5 (Méiydu.)
Not yet.

Differences:

1. “{R.... T"VS“ (tR) E....T”

Generally speaking, “|&...... 7” and “E...... 7" can be substituted for each

other,

but there are still some differences, as shown below:

HL+V./Adj./ time words/quantifiers+ |
(P E+v./Adj+T
E.g.

(1) ZFEHYZFH 7. (Ché kudi/ydo kai le.)

The car will leave.

(2) Y ZEYX T, (Zhdu kudifyao léng le.)
The porridge will get cold.

B) RET T, MAESIFIFIF LT T T

(Kuai chinjié le, ta zhlinbeéi hdo huijia guo chinjié le.)

The Spring Festival is coming, and he is ready to go home and spend Spring Festival
there.

4) Ft+2 7, FAD T . (WS kudishisuile, wd bu xido le.)

I'll be ten years old, so I’'m old enough.

18
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2.PRE _.T"VS “BE...T"
Generally speaking, “IRE..... 7” and “BLE...... 7" can substitute for each
other, but the important difference between them is that when there is a

specific time adverbial in the sentence, we can only use “t=...... 7", and

not “IRE.... 7"

E.g.

(1) TR FEZEHA T - (Tamen mingtian jit ydo chiifa le.)

They will set out tomorrow.

(2) FE/TKIEH2ET . (Baba houtian jityao chichai le.)
My father will be in business the day after tomorrow.

Summary
| Howtosaythatsomethingwil happen ‘Soon” inMandarin |
L R T PR T R
E.g. E.g. E.g. E.g.
KF-ZIF T KF-RTF T - PR LT T PR AL T -
(Huoché yao kai le.) (Hudché kudi kai le.) | (Wdnfan kudiyao zuo | (Wanfan jidydo zud hdo
The train will leave. The train will leave. | hdo le.) le.)
The dinner will be done. | The dinner will be done.
I SR s ¥ R 1 “SREL.. T RE LT
2. Generally, “CHR) ... T” cannot use time | 2. When there is a specific time adverbial, we can
words or quantifiers. only use “Bt# ... 7"

Interrogative form: generally use “%” at the end, followed by a question mark.
Negative answer: only “¥t "

E.g. —— 1G4 HFEELTF4% 715 2 (Changgé bisdi yao kaishile ma ?)
Will the singing contest begin?
——X#. (Méiydu.)
Not yet.

19



How to Express that Something “Happened” (Intermediate

Level)

Example: “ZHg 7 X%~ (wo chile hud gud)

1.

We know that when you add “ 1 ” after a verb, it indicates that this action
happened at some time in the past, like“F1Z 7 K $®” just means “ | ate a
hotpot.” In this sentence, you can also put “7” after the object, to say “Fx1z

NER T It's absolutely the same as “FxZ 7 K 8" They have the same

meaning.

But when the object of the verb is quantified, like “I ate hotpot three

times,” you can only say “Fx 1z 7 =X X 5R” Like:

“ FNERY, B T =/ K#4 — | ate hotpot three times last week.”
“EFEHH, B T =X K% —|ate hotpots three times last May.”

It’s typical past tense, the same as in English.

The negative: “ZL/% 15 K#h. 7 ANEH], Fe/R05 K. 7

2.

(( \ »

When you talk about your past experiences, you need to add after the

verb, like

“Felg il K Z . — I've ever eaten stinky tofu before. ”
“Fe Z L. - I've been to the South Pole before.”

20
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When the object is quantified, like “I’ve eaten hotpot three times” you can
say “FIZiT =K :K4ER. ” It still shows your experiences; it means that you’ve

only ever eaten hotpot three times in your lifetime.

The negative: “Z/ZIE1T K #io 7

3.

But if you want to say “I've eaten hotpot three times from the first time I'd
eaten it up to now,” you need to say “ZEAE T = XK 7.  It's like the
perfect progressive in English. It means from the first time you eat hotpot, up

to the moment you’re speaking, you’ve eaten hotpot three times.

So from a point in time in the past, up to the moment of speaking, you have
done something for many times, you can use this structure, like i X/ N5, &
727 =>R:KEB7T . -I've eaten hotpot three times this month.” It means from
the beginning of this month up to the moment you are speaking, you’ve eaten

the hotpot three times.

And from a point in time in the past up to the moment of speaking, you have
been doing something fora period of time, you can still use this structure, like
in English: “I’'ve been learning Chinese for three years,” can also be translated
into “FrF 7T =FXIE T . ” It means from the first time you started learning
Chinese up to the moment of speaking, you’ve been learning Chinese for three

years.

Ll



In Summary:

A:

| ate hotpot at noon. F714F, FLHE K T .

It’s my first time to eat hotpot. IXAZF 55— /KIE K.
I’'ve never eaten the hotpot before. # L Fi /%110 K #4 .
Have you ever eaten hotpot? /1Y K #4415 ?

B:

I’'ve eaten the hotpot many times. ZH51dTRZ KK #4.

I’'ve already eaten the hotpot three times this month.
BN, HEENE T =KKE T -

Chinese grammar is highly patterned based. Learn these grammar patterns to

understand the structure of the language and be easily understood.

i. Chinese Interrogative Sentences

Asking questions in Chinese is as important as learning basic survival sentences.
Chinese is a tonal language so when you ask a question, it is not as simple as
raising your tone at the end of an interrogative sentence like people do in
English. When a tone changes in Chinese, the very meaning of the word will
change too. With this in mind, you may ask simple questions in Chinese by using
an interrogative particle, the affirmative-negative sentence structure, or a
question word. Here we will introduce some particles and structures that are

commonly used to help you correctly learn how to ask questions in Mandarin.
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1. You may be very familiar with particles “fZ” and “IE”. In Chinese, you can

just put them at the end of a sentence to ask questions, such as:

IRAZZIS ? (N shi ldo shi ma)
Are you a teacher?

K AELEH—1G ? (Jin tian shi xing qi yi ma)
Is it Monday today?

114 W2 ? (Ni gan shén me ne?)
What are you doing?

T EXN X KA, 7508 2 (WS xi hudn zhé bén shd, ni jué de ne?)
| like this book and what do you think?

2. Besides “I3” and “Bg”, we can add “%F” or “T] |)X” and make “¥4FM5” or “T]
IXMG” at the end of sentence. “4¥M5” is used to ask suggestions from others

and “T] [ 15" is used to ask for permission, such as:

e TR 2K, 4715 2 (WS men ming tian yi gi qu chdng chéng, hdo ma?)
Shall we go to the Great Wall together tomorrow?

1HF— T IRI94, AL ? (Jié wé yi xia ni de bi,ké yi ma?)
Can | borrow your pen?

3. The particles“tT4”, “EA4”, “BRE”, “1E” and“ {1 4" are used to ask
“what”, “how”, “where”, “Who” and “why” in Chinese. If you want to ask

something specific, these particles are really helpful, such as:

WAEIE (4 ? (NI xidng chi shén me?)
What do you want to eat?

4 57 ? (NI jido shén me ming zi?)
What is your name?

EEEAE? (Qu gl gong zEn me z6u?)
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How can | get to the Imperial Place?

XEHEAL M ? (Zhe dao ti zén me zuo?)
How can | solve this question?

WF A B SEFYK 35 1] 4 2 (NG IY néng mdi ddo han yii ci didn?)
Where can | buy a Chinese dictionary?

IREELHEE ? (N yao qu nd Ii?)
Where would you want to go?

2?2 (Ta shi shui?)
Who is he?

WEZFE[F A ? (Shui shi méi qud rén?)
Who is an American?

il A7 114 7% 7 (Ta wei shén me méi I6i?)
Why doesn’t he come?

4. When you want to ask how much or how many about something or

somebody in Chinese, you can use “J1”, “%”, such as:

LR ZE £ 2 (Zhe jian yT fu dub shdo gidn?)
How much are these clothes?

X TFZK T ? (Zhe hdi zi dub da le?)
How old is this child?

BIALA T ? (Xian zai ji didn le?)
What is the time now?

WEEJL1NE2( NP yao ji gé ping gud)
How many apples do you want?

5. Another construction for a question is the “ Verb-A~-Verb” format, that is to
say, a verb is followed by “A”(blu) which means not, no or don’t and the verb
is repeated. This construction is used to confirm something that people are

not very sure about and the examples are as follows:
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WFAEANAZEE4E 2 (NF shi bu shi yi shéng?)
Are you a doctor or not?

DNFIGANES ZEFE ? (Xido ming chi b chi xidng jido)
Does Xiaoming eat bananas or not?

1B ANE M ? (Ma ma kan bd kan dian shi?)
Does mother watch TV or not?

6. Some associated statements, like “(&)...18 =" (shi...hai shi)(.... Or....), are
good for you to give people some choices and ask them which one is better,

such as:

IRAEIE 1 B SFEL A2 FE [F 5 7 ( NI shi chi zhdng gud cai hdi shi méi gué cai)
Do you eat Chinese food or American food?

XAAFLLAEFEH? (Zhe shi i hdi shi ping gus?)
Is this pear or apple?

. 1(ba) Sentence(Intermediate Level)

When learning Chinese sentence structure, we can never skip the I
sentence. According to the variations of words in #Z sentence, it does seem
like one of the most difficult sentence structure in Chinese Grammar.
Otherwise as one of the most often-used sentence in our daily life, 3
sentence must be learned well. Here come the four rules, which can help you

to grab the basic and common usage of 1 sentence.

Rule #1
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the structure and the meaning

S+ 3 + 0+ V + others

Subjects do some actions on objects to make them change. This # sentence
emphasizes the actions(verb) by which the changes of objects made. In some
aspect, it can be translated as the English sentence with have, make and let.

Most of the 2 sentence can be rewritten in Verb + Object order.

NP IE T -  (We make the theft caught. )
FENTHE T Ppir.  (We catch the theft.)
25751777 T - (| make the house clean.)
1777754 7 (I clean the house.)

Rule #2

In 32 sentence, verbs can never be used alone and there must some words
put before or after them. That is why we need “others” in this sentence

structure. Otherscanbe 7 Z i1¥ nonce or phrases.

LR T
A L .
HHE I TR LT

In addition, there are some verbs that cannot be used as predication verbs of

}2 sentences

1. intransitive verbs which cannot be follow ed by any object , such as “j&

7. MRl Mk, BREE. B1E. SR, EX. 2R etc

2. some of the verbs of judgment or state , suchas“f. 2. &. &. &
E”-
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3. some of the verbs of expressing mentality or senses, such as “Hli&. [3
%ﬂ\\ ﬁ/'%\ t-EI:_H\\ /%E\ /Hfﬁ %Xk\ %\ g;}%\ Em\ I:U:I:JI_ILJ\ "%4‘

”

4. some of the directional verbs, suchas“lF. . #. H. [E. 3. I,

#2” etc.

Rule #3

Objectsin 3 sentence must be definite. That explains “¥8—££ FH(some
books)E ¥, ”"x—— It should be “}EixX £t H(these books)EK”, Some may
wonder why we can say “}EFHE3E". In this case, the book in this sentence is

that one the speaker and listener both know.

Rule #4

The negative form of this # sentence: “A” “3%” “Y% %" should be put just
before 3.
1. HRAHHE G UM ——xFHHE G ZUre . (1didn’t let him know

this news.)

2. WAHIEL N . ——x A 25 . (She doesn’t give him the money.)

“#% =741)” (Béi-structure) Passive Sentences

In Chinese, the use of “passive sentences” is fairly common and foreigners
who are not used to passive sentences are often confused by them when

learning the language. So, now we are going to explore one of these special
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sentence structures—passive sentences with the preposition “#%”(B&i), also

called “#=~/a)”(Béi-structure).

“#% =7/0)” (Béi-structure) is a kind of passive sentence structure

using “#”(Béi) to indicate the agent who has performed the given action or

verb. The basic structure is “(Patient)Subject+#
(Bei)+agent+V.+complement/other elements”. Note that sometimes, itis

possible to leave out “# (Béi)+agent” depending on the particular situation.

Here are some detailed examples to better explain this structure:

The Affirmative Form

1. Basic form

(Patient)Subject + % (Bei) + agent + V. + complement/other elements
E.g.

(1) B#ZAE 7. (Sha béitand zéu le.)
The book was taken by him.

(2) [B CL LKL T o (Mianbdo béi méimei chile.)
The bread has been eaten by younger sister.

(3) FeHMEFT T (W6 béita dd le.)
| was beaten by him.

(4) R #4435 T - (Gudzhi béi didi hé le.)
The juice has been drunk by young brother.

in using this basic form, what is emphasized is the agent, or the doer of the

action.
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2. Leaving the “agent” out:

(Patient)Subject + #%(Bei) + V. + complement/other elements
E.g.

(1) B77E#1 T - (Zixingché béi téu le.)
The bike was stolen.

(2) K i EE T - (Hanyd sha béi jié zéu le.)
The Chinese book has been borrowed.

(3) FAHL#EH T (Shdu jT béi shudi le.)
The phone was dropped.

(4) Z5THT5H T - (Kongqi béi wiirdn le.)
The air is polluted.

This structure emphasizes the result of the action, not the agent. The agent is

left out because it is unnecessary for it to mentioned, or is unknown.

3. Leaving the “# (Beéi)+agent” out:
(Patient)Subject + V.+ complement/other elements
E.g.

(1) R 1#ZF T (Fan zuo hdo le.)

The meal is ready.

(2)TEMWE5E T o (Zudye xié wdn le.)
The homework was finished.

(3) H 32 2L 4F 1o (Dian yingpido mdi hdo le.)
The movie ticket was bought.

(4) B 1E4F T (Dianndo xid hdo le.)
The computer has been repaired.

This type of structure only emphasizes on the (Patient)Subject and the result
of the action.
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The Negative Form

There is a negative form as well where “3% (&) (méiydu)” is used in the
passive sentences, and (45) isimplied. To be consistent with the

affirmative form, there are two negative forms:

1. 3% () (méiydu) is put before the preposition “#% (B&i) ” in the first

two affirmative forms:

(Patient)Subject + ¥ () (méiyou) + 4% (Beéi) +agent+V.+
complement/other elements

(Patient)Subject + 3% () (méiyou) + 4 (Beéi) +V.+ complement/other
elements

E.g.
(1) B 174 # 5 5 IE L (Zixingché méi béi gége xid hdo.)
The bike hasn’t been repaired by older brother.

(2) BT FERWNELF - (Zixingché méi béi xid hdo.)
The bike hasn’t been repaired.

2. 5% (/) (méiydu) is put before the verbs:

(Patient)Subject + & (B ) (méiydu) + V. + complement/other elements
E.g.

(1) 5 77F %1547 - (Zixingché méi xia hdo.)
The bike was not repaired.

(2)1EW 745 75, (Zudyé méi xié wdn.)
the homework isn’t finished yet.
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Here is a summary chart about “#=/a)”(Béi-structure) to help make things
clearer. We will use the sentence below to show the different affirmative and

negative forms:

T HELLNFTIE 7o (Béizi béi méimei dd sui le. )
The cup was broken by young sister.

Affirmative forms:

(Patient) " complement/
Subject (B&i) agent V. other elements
1. WF # 737 S 3 N -
2. WT W \ T BT,
3. T \ \ T &7,

Negative forms:

(Patient)  X(H) 51 E(B) complement/
Subject  (méiydu) (Bai) agent  (méiydu) V. other elements
1 #F x (B) W IRIK \ 1T .
2 WF & (F) W \ \ T %,
3 F \ \ \ x (B) T #%.

Finally, some points need to be emphasized:
i). In pattern 1 of affirmative forms, we can also use the prepositions
“IY”(jiao)and “1L”(rang); the negative form can also be constructed with

“A”(bu), “Hl” (bié).Finally, some points need to be emphasized:
E.g.
(1) FHI 3 T . (Zididn jido ta jié zéu le.)
The dictionary was borrowed by him.

(2) 8Ll D& 7 - (Qidnbdo rang xidotéu tou zou le.)
The wallet was stolen by the thief.
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(3) LI XA ERL. (Tade wénzhang bu béi cding.)
His essay hasn’t been receipted.

(4) R ZZ S, Filfbrg.  (Nindzhe pinggud, bié rang ta chi.)
Keep the apple, don’t let him eat it.

ii). In “#%=~/a)” (Béi-structure), there must be a modifying element following
the Verb, and the verb can’t be used alone.

Compare the two sentences below:

Water has been drunk:

KT 75 T o (Shui béi hé wdn le.)

XK #H5 55 (Shui béi hé wdn.)

XOK#HG.  (Shui béi hé.)
(The three sentences above may have the same meaning when translated to
English, but the original Chinese pattern and meaning are different. Usually,

the last two sentences are considered wrong grammar in Chinese.)

iv. Existential Sentences(fEF4]))

‘7730 8]’ - Existential Sentences are an especially useful structure in Mandarin.
Chinese people use it to express the existence, appearance, or disappearance
of someone or something. It is similar to the ‘There is’ grammatical structure

in English, though it is not exactly equivalent.

Existential Sentences follow a structure that is used to express that someone
or something exists, appears, or disappears somewhere. Usually, it consists of

three main parts: the Front Part indicates ‘a place’, the Middle Part uses Verbs
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which express ‘existence/appearance/disappearance’, and the Final Part
indicates ‘someone or something’. If this sounds abstract, then the concrete

grammatical form can be expressed as:

‘Place+ Verb + Object’

*(Verb: for existence or appearance or disappearance)

*(Object: Something or Somebody)

Let’s look at some specific examples:

1) HBEEEG—£T. (Shabao If you yi bén shi.)
There is a book in the schoolbag.

2) F EHEE — LR,  (Qidngshang gudzhe yi jian yifu. )
There is a piece of cloth on the wall.

3) P FELE—F A LS. (Xidohé pdngbian shi yi tiGo damdlu. )
Beside the creek, there is a road.

4) FZEAFTIUEN .  Uiali ldile ji wéi kérén. )
Several guests came to my house.

5) HGTHIE T —F2 . (Yagang Ii sile yi tido jinyd. )
A goldfish has died in the fish tank.

From those sentences above, (1). (2). and (3) express existence,
(4) expresses appearance, and (5) expresses disappearance. According to
the concept of Existential Sentences above, they can be summarized in the

following chart:
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the Front Part the Middle Part the Final Part
(place) (verb) (object)
Existence SRR f — &4
ik H — AR R
N5 i — %K
Appearance e * T JUREEN
Disappearance 7KL T —% et

1. For the Front Part of the Sentence

This part is structured as ‘Noun + Locality Words’ to indicate a place.

Examples: &=+ _F (Zhuodzi shang) onthetable, #£FZ38 (Béizi

zudbian) the left of the cup, FE[B)E (Fangjian Ii) inside the room, etc.

2. For the Middle Part of the Sentence

We use ‘B’, 'V &', ‘&’ to connect the front and final parts of the sentence to
indicate existence, showing a state or a mode, while ‘V 7’ usually shows a

dynamic meaning that indicates appearance or disappearance.

3. For the Final Part

The Object is definitely needed in this structure to complete the Existential
Sentence, and usually is uncertain or impermanent (except in Example (3)
above). There is usually no modifying adjective before the Object, and the

elements before it are usually a Descriptive or Numerical phrase.

Other notes:

34


http://www.digmandarin.com/wp-content/uploads/2017/01/Existential-Sentences.png?x64393

1). Generally speaking, in Existential Sentences, the front of the whole
structure should follow ‘Noun + Locality Words’, and prepositions such as

‘“Z£’, ‘M’ and so on cannot be used.

2). Time words could exist before the Front Part in Existential Sentences as an

adverbial modifier, but are really unnecessary.
E.g.

SEKTILZEN . didli ldile ji wéi kerén. )
Several guests came to my house.

BRI S EH T L7 5N . (Ganggang jiali Idile ji wei kérén. )

Just now, several guests came to my house.

‘{ 7 { 7

3). The Object is often uncertain except in ‘&’ sentences. In a ‘&’ sentence,

there is only a singular thing or person that is certain.
E.g.

I FE R F A L. (Xidohé pdngbidn shi yi tido damdli. )
Beside the creek, there is a road.

LG B2 1. (Shdangdian houmian shi chaoshi. )
There is a supermarket behind the shop.

v. Bi-structure(Et % £]) - Making Comparisons in Chinese

In everyday life, we usually compare different people or things by
length, weight, size, age and so on. So, do you know how to say she is more
beautiful than | am and She is much more beautiful than | am in Chinese? And

why the sentence“ftb Et Fi R JE = (Ta bi wd hén pidoliang)“ is wrong?
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1. The sentences above can be expressed using “ Bi-structure(tt,==4]) “ In
Chinese, we usually use “Bi-structure(Ltt=2/a])“ to compare different people
and things, describe the changes in different situations, and describe changes
over time of one person or thing, but the word order in these kinds of
sentences is different from in English. Look at the patterns below:

A Lt B + adjective

E.g.

(1)1 7. (Ta bl wé gao.)

He is taller than me.

(2) /T3 [E] HEAE 119 15 ] A (WS de fangjian bi ta de fangjian da.)
My room is bigger than his.

(3) Ze He 2 4E . (WO bi qunidn pang.)

| am fatter than last year.

We can omit the part which is compared. For example:
FHTE I LA () K. (W6 de féngjian bi ta de fangjian dd.)
My room is bigger than his.

e The interrogative form:

A t B + adjective + & ?

E.g.

il L1555 2 (Ta bi nif gdo ma?)
Is he taller than you?

How to answer the question“fth Et /R = 15 (Ta bi ni gao ma)“ in Chinese ?
We already know the affirmative answer, but when we come to the negative
form, there are two differernt kinds of answers. Look at the examples below:

o The negative form:

i) A ¥&H B + adjective
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E.g.

MG FE . (Ta méiydu wo gdo.) He is not taller than | am.
His height < My height

ii) A AL B + adjective

E.g.

AN Fe g . (Ta bu bi wé gdo.)
a) His height=My height (His height is almost the same with mine)
b) His height<My height (He is shorter than | am)

Notes:

The sentence i ANEEF = (Ta bu bi wd gao) has two possible meanings like
above. Actually, this negative form is not only a comparative sentence, it also
expresses a tone of the dispute. While, the sentence“ftt;5% % I = (Ta méiydu

wo gao))“just focuses on the fact itself.

What’s more, there are differences between the adjectives used in these two
negative forms. Genernally, the adjectives in “A %7 B + adjevtive” should
be positive words, but there are no such limitsin  “A Ntk B + adjective”.

Look at the examples below:

E.g.
R REEH] . (WS méiydu ni céngming.) | am not clever than you.
* T K. (WS méiydu ni bén.) | am not stupider than you. X
B REE. (W6 b U bi ni di.) | am not shorter than you.
ZEA LN, A EZENT AL FA 2> (WG yé bu bi ni bén a, késhi  wé
weishénme zong xué bu hui.)

I am not stupider than you, but why | can’t alreays learn that.
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Nomally, we can’t say “F )% H {R%& (WS méiydu ni bén), but if you want to
emphasize that you are stupid and | am not as stupid as you, we can say “F %
BRI AE (WS méiydu ni name bén)“. Generally, we would use “HE A

(name)“ before passive adjectives.

2.The sentence A tt, B+ adj can explain there are imparities between A and
B, but if there are some big differences between two people or things, or you
want to express the specific differences between them, we should add some
specific words to the “Bi-structure(tt,=2/a])“ . Look at the examples below:

i) A tt B + adjective + the specific quantity
E.g.
i L7510 JE K. (Ta bi wo gdo shi limi.)

He is ten centimeters taller than | am.

ii) A Lt B + adjective + —R L/ —&£/B Z/Z T

E.g.

Mt #m— 5 L. (Ta bi wo gao y ididnr.)
He is a little bit taller than | am.

7B —4E, (Ta bi wé gdo yixié.)
He is a little taller than | am.

7732/ % 7 . (Ta bi wo gao de dué/dud le)
He is much taller than | am.

When we express that there are big differences between two people or two

things, we should pay attention to the fact that we can’t put the adverbs
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which describe the high degree before the adjective. We can use the

adjectives, like “% . It “ which should be put behind the adjective.

E.g.

* B B TR ZZ. (WG de hanyl bi't @ hén chd.) X
eI iE 2508 7. (WG de hanyd bi't @ cha yudn le .) v
My Chinese is much worse than his.

3. If you want to express A has the high degree in an aspect, while B is much

higher than A in this aspect, we can say as follows:

A . B + T /iE + adjective

E.g.
AP H 2k 5 . (Dawei bi Ydoming hdi gao.)

David is even taller than Yaoming.

If you want to ask about specific differences or if there is a big

difference between two aspects, you can say:

e The interrogative form
i).A b B + adjective + £ /1>?
E.g.

K P H Bk 5 £ b ? (Dawéi bi Ydoming gdo dubshao?)

ii) A k. B + adjective + 8215 ?
E.g.

K P H B 775 2 (Daweéi bi Ydoming gdo dé dué ma?)
Here is a summary of the Bi-structure(Lt 5)):
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Structures of Ll Examples
Adjective i FE. (Ta biwo gdo. )
He is taller than I am .
1176 B 10 JE K. (Ta bi wé gdo shi limi.)

adjective + the
He is ten centimeters taller than | am.

ALl B  specific quantity

adjective + — 5 )L/ 0/LF A7 /L. (Ta bi we gao yididnr.)
—e /IS /ZT He is a little bit taller than | am.

% /5 + adjective | 1AL . (Ta bl wé hdi gdo.)
. He is even taller than me.

Pivotal Sentence

‘JE1E/a)’ (Jianyuju), Pivotal sentence, which is a special structure that plays an
important role in Chinese. | believe many learners will have or have had

trouble while working with it. So, here is a brief introduction.

Well, WHY we should know what a Pivotal sentence is? Because that’s
something we meet when studying Chinese, even in the primary stage. It has
both an Information Function and Aesthetic Function. Actually, if talking with
native speakers, you’ll find out Chinese people use it more often in oral

communication.

Now that ‘What is a Pivotal sentence?’ To start, let’s look at following sentence
(WG jiao meéimei chi wiifan. )
T TRIKNE TR -

I ask my younger sister to have lunch.
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According to the sentence above, we can find out a structure which is:

* y 7R/ 172 AR
Nounl Verbl Noun2 Verb2 Other elements

So simply to say, Pivotal sentence has the form of

‘(Noun1+Verb1l+[Noun2) + Verb2+Other elements]’,

and Noun2(more precisely, Nominal element2) is the Object of the Verb1, and
the logical subject of the Verb2. Among Pivotal sentences, there still exist
different types according to what Verbl and Verb2 are, so here, with limited

time and space, two basic structures will be introduced.

Structurel: Nounl+ib/PY/JR/iE...+Noun2+Verb2+ (other elements)
E.g.
(1) i[#%&%. (Rangwd kankan.)

Let me have a look.

(2) ZIn i, (Ldoshi jiao/ rang ni jido zudye. )
The teacher asked you to hand in homework.

(3) A E[JRFHEH. (Gongsipdi wé chiigud. )
The firm assigned me to go abroad.

(4) B AR iEEZEI .  (Wdode hdopéngyou ging wé qu Béijing. )
My best friend invited me to Beijing.

Meanings:

1. To express ‘Noun1 asks or requests Noun2’ to do something. In this case,
Verb1 should be

. TR EK et

E.g. ZBZLR ML ER . (WG ydogiu ta qu shuijico. )
I asked him to go to sleep.
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2. To express ‘Nounl allows Noun2’ to do something. In this case, Verb1

should be ‘[5) &’etc.

E.g. ZICIAERNTE 2 .  (Xuéxido téngyl wdmen qu gongyudn. )
The school allowed us to go to park.

The negative form:

Nounl+ A /% (&H) +ik/M/JR/iE...+Noun2+Verb2+(other elements)

E.g. (1) ZIRn/ifEF.  (Ldoshi méi jido/rang wé jido zuoye. )

The teacher didn’t ask me to hand in homework.

(2) 1A A EF L.  (Mama bl téngyi wo qu Chéngda. )

Mam don’t allow me to go to Chengdu.

(3) FKIFMAFKLEE. (WS méi ging ta Idi bangéngshi. )
I didn’t ask him to the office.

Structure2: Noun1+ik/Al/{#...+Noun2+Verb2/Adj.

Eg. (1) XTEFHLL/ M/ EFAE.  (Zhéjianshi rang/jiao/shi wé bl
gdoxing.)
This thing makes me unhappy.

(2) X X &/ M (EF 4. (Zhépian wénzhdng rang/jido/shi wo

shangxin. )
This article makes me sad.

(3) MIHTIFG i/ (E kA E 2 T fF.  (Tadehud rang/shi méimei juéding qu
goéngzuo. )
His words make his young sister decide to work.

Notice:

1. It differs from Structurel in that in this case, Nounl is the reason for
Noun2 to do something or change, not Noun1 asks or orders Noun2 to do

something of Structurel.
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2. When the place of Verb2 is Adjective, there are usually no other elements

following the Adjective; however, if it’s a Verb, there could be other

elements that follow.

3. The negative form of it is complex, and it depends on the meaning of the

whole sentence. We will illustrate it in the future.

In summary, we’ve learned two basic structures of Pivotal sentences; a basic

summary can be seen in the following chart.

Structurel

Structure?

Basic form

Nounl+il/i/JR/iE ..+ Noun2+Verb2+ (other

elements)

Noun1+iL/M /{# ...+ Noun2+Verb2/Adj.

(Léoshi jigo/ rang ni jiao zuodye. )

The teacher asked you to hand in homework.

(Zhéjianshi rang/jido/shi wé bl gaoxing. )

This thing makes me unhappy.

Negative form

Nounl+ A /% (¥ H DY +ikb/sm /IR /

iH...+Noun2+Verb2+(other elements)

=
£ 4

T/ 1R LEFATTEAY
(Ldoshi méi jiao/rang wé jido zuoyeé. )

The teacher didn’t ask me to hand in homework.

Some other points we should focus on are:

1. The Verbl in the Pivotal sentence usually express ‘asking or ordering’

meaning.

2. Structure?2 is different from Structurel.

3. “ffi” (shi) in the Structure2 can’t be used in Structurel.
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4. When it’s an Adjective in the place of Verb2, there are usually no other

elements that follow the Adjective.

vii. Serial Verb Phrases Sentences

% 5)15](lidn dong ju)’ are Sentences with Serial Verb Phrases, the last of the
special sentences in Mandarin. This kind of sentence structure is widely used
in oral and written Chinese to express a reason for, purpose, or way of doing

something, and closely reflects the way of thinking in Chinese culture.

Sentences with Serial Verb Phrases consist of two or more Verbs or Verbal

phrases which are predicative of the same Subject. Its basic form is

‘Subject+ Verb1+(Objectl) +Verb2+ (Object2)’

but each part of the structure has a different intent, which are as follows:

1. Verb 1 indicates the ‘means or manner’ of Verb 2.

E.g.

(1) 4L . (WS kai ché qu chdoshi.)

| drive the car to go to the supermarket.

2) FNIHPEFIZD. (WSmen yong kudizi chifan.)
We use chopsticks to eat.

2. Verb 2 indicates the ‘purpose’ of Verb 1.

E.g.

(1) 22\ Pr. (Ta qu géngyudn wdn.)
He goes to the park to play.

(2) 345 #7535, (Ndinai shangjié mdi cai.)
Grandma went to the market to buy food.
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3. Verb 2 indicates the ‘result’ of Verb 1.

E.g.

(1) Fehr 1R E 2%, (WO ting le hén gdo xing.)
I’m so happy after hearing it.

(2) HBHEWEFE T - (Didi shéngbing zhiyuan le.)
Younger brother has been sick in the hospital.

4. Verb 2 indicates the ‘succession’ of Verb 1.

E.g.

(1) KB ! (Dajia péidui shangché.)

Please line up for boarding!

(2) FEHF AN (WS gichudng chudn yifu.)
I get up and put on clothes.
5. Verb 1is “B’(ybu) or ‘% &’ (méi you).
E.g.

(1) B FHHNR. (Ta you shi zhdo ni.)

He’s looking for something from you.

(2) BT (WS méiydu hua shud.)

I have nothing to say.

6. Verb 1 and Verb 2 indicate the same thing but Verb 1 expresses
affirmative meaning while Verb2 expresses negative meaning.
E.g.

(1) fhABZ 5], (Tazuozhe bu dong.)
He sat still.

(2) FHAIIA M 1% (Didi bikéu bu shuéhud.)
Younger brother closes his mouth and doesn’t talk.

Notes:
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1) The sequence of Sentences with Serial Verb Phrases cannot be changed,
and there is no conjunction or comma between Verb 1 and Verb 2.

2) In this structure, the verb (but only Verb 2) can be overlapped.

E.g.

(1) T2\ TR, (W6 qu gongyudn guangguang.)
I will go to the park for fun.

(2) B2 2L 7. (WS qu chdoshi mdimai dongxi.)

I will go to the supermarket to buy something.

3) For added meaning, we sometimes can add ‘F]’(ké&) before Verb 2, as there

is an idiomatic usage with ‘“JG..... J......".

E.g.

(1) FHGEGRESTVritgan iJE, A UULEE
(Shangchdng Ii you hén dud ddzhé shangpin ké mdi, kéyi qu kankan.)
There are so many goods on discount for shopping, you can go and have a look.

(2) HFERTEFA T (Xianzai wé wi shi ké gan.)
Now I have nothing to do.

Summary :
We have learned six meanings expressed through Sentences with Serial Verb

Phrases, which are summarized in the following chart:
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Subject

(Object)

A1 i 57 " 7
fte % N Bt

#® 0T TR

KE H B I 3
ftt i % 1 i
#® WA i W

9 i N R i

Understanding Chinese grammar gives your insight into the Chinese way of

thinking. As you start using these sentences and practice more and more, you

will also eventually be able to talk more like a native Chinese speaker. If you

are interested in more Mandarin Chinese grammar lessons, feel free to check

www.digmandarin.com anytime. Good luck with your studies!
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